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Szczegółowe rozwiązanie
geometrii skrzyżowania

R100

X = 3374974.3679     Y = 6057630.0497
X = 3374988.4171     Y = 6057624.1719

X = 3374991.8846     Y = 6057620.4095
X = 3374989.9279     Y = 6057618.8062
X = 3374986.4151     Y = 6057622.6747
X = 3374976.8080     Y = 6057627.6821

X = 3374994.7345     Y = 6057622.7419
X = 3374993.3578     Y = 6057623.9027
X = 3374991.9533     Y = 6057625.6370
X = 3374990.4125     Y = 6057631.8511
X = 3374993.7614     Y = 6057633.1561
X = 3374995.3626     Y = 6057631.3493
X = 3374996.9131     Y = 6057628.4666
X = 3374998.7631     Y = 6057624.9267
X = 3375004.1030     Y = 6057619.2003

x
y

X = 3375003.1876     Y = 6057617.4506
X = 3374995.9836     Y = 6057621.5997

X = 3374989.1003     Y = 6057623.2994

X = 3375010.5821     Y = 6057641.4658

X = 3375007.3778     Y = 6057640.2314
X = 3375011.3012     Y = 6057639.5995

X = 3375003.5397     Y = 6057634.3864
X = 3375004.1806     Y = 6057631.8686
X = 3375006.9330     Y = 6057628.7397
X = 3375005.0928     Y = 6057627.9539
X = 3375014.4583     Y = 6057621.3637
X = 3375013.6716     Y = 6057619.5265

X = 3375020.1473     Y = 6057617.2639

X = 3375021.3591     Y = 6057617.9791

X = 3375021.6039     Y = 6057618.9487
X = 3375021.9105     Y = 6057620.1633

X = 3375024.8507     Y = 6057619.1901
X = 3375024.6832     Y = 6057618.2780
X = 3375024.5026     Y = 6057617.2945
X = 3375025.3073     Y = 6057616.1401

23456789101112131415 1
Nr punktu
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X = 3375002.4992     Y = 6057614.8597

X = 3375011.8813     Y = 6057612.8637
X = 3375012.7070     Y = 6057611.7136
X = 3375012.1548     Y = 6057611.4653

X = 3374997.5352     Y = 6057636.4796
X = 3375000.6929     Y = 6057629.1727

X = 3375014.4218     Y = 6057615.0125

X = 3375016.4695     Y = 6057617.2667
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